f(x) = Arccos(1 — x)

1. Domaine de d_finition

Dom f = [0, 2]
2. Signe de f
X 0
Arccos(1—x) | | |0

3. Limites et asymptotes
lim Arccos(1—x) =0

x—0

lim Arccos(1 —x) =x

x—2

lim Arccos(l—x) =7

X—>+o00

lim Arccos(l—x) =7

X——00

4. Intersection avec les axes

GENX={(00)}
GENY={(00)}

5. Etude de f'
fi(x) =
V-(x-2)x
X 0
1
V—-(x-2)x / ’ * /
f@ |/1]0]/ /
6. Etude de "
1—-x
f'(x) =
x=2)xV—-(x—-2)x
X 0 1
1-x
S — 0
(x-2)xV—-(x-2)x / |
f @ /10]~13
I1:(1 ﬂ)
H,
7.Tableau r capitulatif
X —00 0 1 +00
f@ |/ ]+ |3 /
1
pente | || 1
concavit | 1] 0

8. Graphe de f
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